CEM-090 — Unit 6
Practice Problems

Balance the following and indicate the type of chemical reaction.
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Li,0 + H,O — LiOH

HgO — Hg + O,

Zn(OH), + H,SO, - ZnSO, + H,O

PbO, —» PbO + O,

Al + HCI -» AICl; + H;

Fe)(SO4); + Ba(OH), —» BaSO4(s) + Fe(OH);(s)
Al + CuSOs — Al(SOs); + Cu

Mg + N, > MgN,

FeCl, + Na;PO, —  Fe;3(POy), (s) + NaCl
CH,CHO + O, » CO, + H,0O

Bi(NOs;); + NaOH —  Bi(OH); + NaNO;
FeS + HBr — FeBr, + H,S

PO,y + H,O — H;PO,

Cal, + H,SO, — C(CaSO4(s) + HI
CH,COOH + O, » CO, + H;O

Mg(CN), + HClI — HCN + MgCl,

(NH4),S + HBr —» NH4Br + H,S

H,SO, + NaC,H;0, — Na,SO, + HCH;0,
Fe + O, —» FeO4



